
07-18 JK Aluminum Grab Handles
Install Guide

Contents:

(2) Grab Handles
(2) M8x1.25 75mm Hex Head Bolts
(2) M8x1.25 100mm Hex Head Bolts
(2) 45mm Spacers
(2) 65mm Spacers

Tools Required:

 - 13mm Socket
 - 6mm Allen Key/Socket
 - Ratchet

// Step 1. 
Remove the (2) 13mm bolts per side along the 
A-Pillar [A].

//Step 4. 
Firmly tighten both bolts per side using a 6mm 
allen key/socket, installation is now complete 
[D].

//Step 3. 
Install the (1) M8x1.25 100mm bolt with the (1) 
65mm spacer per side [C] . The spacer goes in 
between the grab handle and the A-Pillar 
panel.

**Note: The tapered edge of the 65mm spacer 
goes towards the grab handle.

//Step 2.
Begin by loosely installing (1) M8x1.25 75mm 
bolt and 45mm spacer into the vehicle per side 
[B]. The spacer �ts in between the grab handle 
and the A-Pillar panel.

A

B

C

Tapered Edge

D

J132495


